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Candidates are required lo give their answers in
their own words as far as possible.
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In » triangle, if square of one side is equal to the

sum of the squares of the other two sides, then the
anglc opposite the first side is a nght angle.
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A cubical block of side 7 ¢m is surmounted by a
hemisphere. What is the greatest diameter the
hemisphere can have ? Find the surface Area of the

solid made like this.
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The table below shows the daily expenditure on foog
of 25 houscholds in a locality :

Daily | I
Expenditure | 100-150 | 150-200 | 200-250 | 250-300 | 300-350
(in Rs.)

Number of [
4 12 2 2
house holds [ 3 L

Find the mean daily expenditure on food by a suitable
method.
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Discriminant of the Quadratic equation
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Question paper consists of 34 questions divided
into fowr Sections A, B, C and D Section-A, from
Question No. 1 to 10 of ! mark each

Section-B, from Question No 11 to 17 of
2 marks cach Section—C. from Question No. 18
to 29 of 3 marks each and Section-D, from

Question No 30 to 34 are of marks each
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Rough work should be done along with the
question
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While answering your questions, you mygy
indicate on your answer-book the same que stion
Ro. as appears in your question paper.
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Do not leave blank page/pages in Yyowr ansrwer-

book.
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All questions are compulsory.
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Graph paper must be attached in between the
answer-book pages.
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Drawing the diagrams in geometrical questions
is compulsory.
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